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PHILOSOPHY
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  The havya of a yajfia brings benefit to :

(A) Devata (B) Rtvik

(C) Consumer of the havya (D) None of the above
2. Mind-body interactionism is a doctrine propounded by :

(A) Locke (B) Spinoza (C) Descartes (D) Berkeley
3.  The concept of ‘Unmoved mover’ is propounded by :

(A) Plato (B) Socrates (C) St. Augustine (D) Aristotle

4.  Pratityasamut pada states that :

(A) Whatever is, is momentary
(B) There is no permanent self
(C) Some elements do not originate

(D) Whatever originates, originates depending on some conditions

5.  The father of western logic is :

(A) Plato (B) Pythagoras (C) Aristotle (D) Xenophanes

6. Sattatraividhyavada is upheld by :

(A) Sankara (B) Ramanuja (C) Madhva (D) Nimbarka
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10.

11.

12.

13.

Paratahpramanyavada claims that :

(A) Pramanya cannot be ascertained at all by any pramana.
B) Pramanya is self-ascertained.
The causal conditions that produce prama produce its pramanya also.

The causal conditions that produce prama do not produce its pramanya.

Pantheism is a theory which advocates that :

(A) God is different from the world

(B) God is same as world

(C) God is both identical with and different from world
(D) God is indifferent to the world

)
)

The statement ‘vahnina sificati’ lacks the condition of :

(A) Akainksa (B) Yogyata (C) Sannidhi (D) Tatparya

According to the Naiyayikas what type of knowledge is atindriya ?

(A) Savikalpaka pratyaksa (B)  Nirvikalpaka pratyaksa

(C) S’abdabodha (D) Anumiti

Perceiving muddy water in the over-flowing river the inference of previous rain is an
instance of :

(A) S’esavatanumana (B) Purvavatanumana

(C) Neither (A) nor (B) (D) Upamana

Who does not accept nirguna Brahman ?

(A) Sankara (B) Madhva (C) Upanisad (D) Sures'vara

According to the vaisesikas ghatabhava resides on the ground by the relation of :
(A) Samavaya (B) Samyoga

(C) Svarupa (D) None of the above
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14.

15.

16.

17.

18.

19.

20.

21.

Which of the following theory does Kumarila favour ?

(A) Akrtisaktivada (B) Vyaktisaktivada

(C) Dravyasaktivada (D) Jatis'aktivada

Who has propounded for the first time the law of sufficient reason ?

(A) Aristotle (B) Mill (C) Leibniz (D) Descartes

Which pair among the following possesses atomic magnitude according to the
Vais'esikas ?

(A) Mind and body (B) Mind and soul
(C) Mind and atoms (D) Mindand akshara

The view that God is only the efficient cause of the world is propounded by :
(A) Ramanuja (B) Sankara (C) Madhva (D) Vallabha

Samavaya relating a ghata with ghatatva relates itself with the ghata by the relation
of :

(A) Samyoga (B) Svarupa

(C) Samavaya (D) None of the above

A bundle of threads is qualitatively different from a piece of cloth is claimed by :

(A) Satkaryavada (B) Asatkaryavada

(C) Pratityasamutpada (D) None of the above

The so-called inferential knowledge that “fire is cold’ is vitiated by the fallacy of :
(A) Savyabhicara (B) Badhita (C©) Viruddha (D) Asiddha

The founder of Neo-Buddhism :
(A) Gandhi (B) Tagore
(C) Radhakrishnan (D) Ambedkar
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22. Brahman is self-luminous; so maya cannot conceal Brahman is proved by :

(A) Tirodhananupapatti (B) As’rayanupapatti

(C) Nivartakanupapatti (D) Nivartyanupapatti

23. The author of the ‘City of God" is :
(A) Democritus (B) Pythagoras

(C) St. Augustine (D) Parmenides

24. Apeiron is the fundamental source of the universe according to :

(A) Plato (B) Anaximenes (C) Anaximander (D) Aristotle

25. According to Kant :
(A) Only phenomenon can be known
(B) Only Noumenon can be known
(C) Both Phenomenon and Noumenon can be known

(D) None can be known

26. The Naiyayikas upheld the theory of error known as :

(A) Asatkhyativada (B)  Satkhyativada

(C) Anyathakhyativada (D) Akhyativada

27. ‘Beyond Violence’ is written by :
(A) Radhakrishnan (B) Gandhi

(C) J. Krishnamurti (D) Sri Aurobindo
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Intuition and Intellect are complementary to each other according to :
(A) Bergson (B) Kant

(C) Radhakrishnan (D) Ambedkar

‘Percepts without concepts are blind, concepts without percepts are empty” according
to :

(A) Plato (B) Descartes (C) Leibniz (D) Kant

The discussion of the four states of atman is found in :
(A) Sivetés'vataropanisad (B) Mundakopanisad

(C) Mandukyopanisad (D) Taittiriyopanisad

Match the List-I with List-II and choose the correct answer from the code given
below :

List-1 List-11
(a) Nyayasutra (i) Badardyana
(b) Nyayabindu (i) Ndagarjuna
() Madhyamakakarika (iii) Gautama
(d) Brahmasutra (iv) Dharmakirti
Code :

(@ () (o (@)
(A @O G @G @)
B @ @ G @)
(© () (@v) @) @
(D) (v) @) @ (i)

D —0308 10



28.

29.

30.

31.

%:%%WWW—@%W%:
(A) e (B) wI0E
(C) THHWH (D) ITwrEHT

foraeh sTER ‘Sfea daemsti & fom 9fs fosea W1 € gfs foeredl & fomm s Haeard sy
%n?

(A) =i (B) T&HIE (C) wmEfets (D) &=

STTHT 1 IR TNl o1 faa=r e sufug & gen &2
(A)  TEITERRITTE (B) HUSHMIg
(C) TUSHIIIg (D) dfeREmafeg

gaT-1 1 Geit-11 9 faam 6t ) = o3 e Hondi § § He S 1 =9 &

gei-1 gei-11
() A (i) eI
(b) g (i) AT
(c) TEAHHHINR (iii) 7w
(d) SR (iv) wepifd
FHE Hahdl

(@ ® (o @)
(A) @ @) @) (iv)
B @@ @ @) (i)
(© (@) @v) @ @
(D) @Gv) @) @ (i)

D —-0308 11 P.T.O.



32. Match the List-I with List-II and choose the correct answer from the code given

below :
List-1 List-11
(Thinkers) (Theories)
(a) Spinoza (i) Intellectual love of God
(b) Leibnitz (i) Unmoved mover
(c) Aristotle (i) Transcendental unity of apperception
(d) Kant (iv) Pre-established Harmony
Code
(@ ® (o (@)
(A) @O @v) @) (i)
B @ @ G @)
(© @) G @ @)
(D) (v) (D) @) @)

33. Match the List-I with List-II and choose the correct answer from the code given

below :
List-I List-II
(Works) (Theories)
(a) Nyaya (i)  Anirvacaniyakhyati
(b) Prabhakara (i) Akhyati
(c) Samkara (i) Viparitakhyati
(d) Kumarila (iv) Anyathakhyati
Code
(@ @) () @
(A) () @) @ ()
(B) (v) @) (@) (i)
© @ G () ()
(D) () @ (v) (i)
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34.

35.

Match the List-I with List-II and choose the correct answer from the code given
below :

List-1 List-11
(Theories) (Thinkers)
(@) Idealism (i) G.E. Moore
(b) Realism (i) William James
(c) Pragmatism (i) Berkeley
(d) Subjective Idealism (iv) Hegel
Code
(@ ® (o (@
(A) (v) @) @ (i)
B) (@v) @ G ()
© O G@ @G @)
(D) @) (D) (@) @)

Match the List-I with List-II and choose the correct answer from the code given
below :

List-1 List-IT
(Thinkers) (Theories)
(a) Sri Aurobindo (i) The Human Cycle
(b) Radhakrishnan (i) My Experiments with Truth
() Gandhi (i) Tarkasangraha
(d) Annambhatta (iv) The Hindu View of Life
Code
(@ () (o (@)
(A) (@) (v) @) (i)
(B) (i) (D) (iv) (D)
© @ @) @) ()
(D) () @) (v) (i)
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34. GeEl-1 GeEi-11 9 fHam ¢ AR = i3 e Hondl 8 9 ST &l 99 &

gei-1 geEt-11
(fagT=7) (o= )
(a) TERIEE () SE R
(OBEELSEEL (i) fafees S
(c) HTRRAR (iii) sehcd
(d) STHEME sTeRER (iv) =T
FHe Hahd
(@ B (© @
(A) (v) @) @ (i)
B) @(v) (@) @G (i)
© O @@ (i) (i)
(D) () (D) (iv) (D)

35. @al-1 7 GeEi-11 9 faam &t 3R A= fd e dondl 9 |21 ST 1 =97

gei-1 gei-11
( feraer ) (fagr=)
(@) ot swfa= i) < gE wEfed
(b)  TEFTL (i) - Ty e g
(c) e (i) THEIE
(d) owE (iv) @ fog = o aRw
FHE Hahdl
(@ B (© @
(A) (@) (v) @) (i)
(B) () () (@v) ()
© @) @) (@) (iv)
(D) (@) (1) (Gv) (i)
D —0308 15
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36. Match the List-I with List-II and choose the correct answer from the code given

below :
List-1 List-11
(Theories) (Thinkers)
(a) The identity of indiscernibles (i)  Russell
(b) Category mistake (i) Leibnitz
(c) Logical atomism (iii) Husserl
(d) The phenomenological method (iv) Gilbert Ryle
Code
(@ ® (o (@
(A) @) (@v) @ (i)
(B) @) @ () ()
© O G@ @G @)
(D) () (D) (@) @)

37. Match the List-I with List-II and choose the correct answer from the code given

below :
List-1 List-1I
(Thinker) (Theories)
(@) Vivekananda (i) Spiritual evolution
(b)  Sri Aurobindo (i) Practical Vedanta
(c) Tagore (i) Sarvodaya
(d) Gandhi (iv) Aesthetic Mysticism
Code
(@ () (o (@)
(A) @@ @ (@v) (i)
(B) (v) (@) (D) (i)
Q) @) (@) (v) (i)
(D) (i) (v) (D) (i)
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38.

39.

40.

41.

42.

43.

Instructions :

The following items 38-42 consist of two statements one labelled the Assertion (A) and the
other labelled the Reason (R). You are to examine these two statements carefully and decide
if the Assertion A and Reason R are individually true and if so whether the Reason is a correct
explanation of Assertion. Select your answers to these items using the codes given below and
mark your answer sheet accordingly.

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is not a correct explanation of (A).
(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

Assertion (A)  : Prama is defined as “experience of the object as it is”.

Reason (R) : There is structural correspondence between object and
knowledge.

Assertion (A) A thing is momentary.

Reason (R) : A thing is causally efficient.

Assertion (A) According to the logical positivist, anything is true if its meaning
could be verified.

Reason (R) : Metaphysics is meaningful.

Assertion (A) A thing is suabhava-s"unya.

Reason (R) : A thing is pratityasamutpanna .

Assertion (A) Plato advocates that “The Good’ is the highest reality.

Reason (R) : Plato says that the soul is tripartite.

Choose the correct sequence of triple process of evolution according to Sri Aurobindo :

(A) Widening, Heightening, Integration

(B) Heightening, Widening, Integration
(C) Integration, Heightening, Widening
(D) Heightening, Integration, Widening
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42.

43.
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44.

45.

Choose the correct sequence :

(A) Trsna,upadana, bhava, jati (B) Avidya, vijflana, namarupa, sadayatan

(C) Vedana,sparsa, trsna, upadana (D) Bhava,vedana,jati, jaramarana

Arrange the correct sequence of the books using the code given below :
(i)  Ethics

(i) Varieties of Religious experience

(iii) The Republic

(iv) A treatise on human nature

Code :
(A) (@), (i), (@), (i) (B) (i), (i), (i), (iv)
Q) (@), (i), (i), (iv) (D) (i), (1), (iv), (i)

Read the following passage and answer the questions 46 to 50 :

Just as “beautiful” points the way for aesthetics and ‘good” for ethics, so do words
like “true’ for logic. All sciences have truth as their goal; but logic is also concerned
with it in a quite different way: logic has much the same relation to truth as physics has
to weight or heat. To discover truths is the task of all sciences; it falls to logic to discern
the laws of truth. The word ‘law’ is used in two senses. When we speak of moral or
civil laws we mean prescriptions, which ought to be obeyed but with which actual
occurrences are not always in conformity. Laws of nature are general features of what
happens in nature, and occurrences in nature are always in accordance with them. It
is rather in this sense that I speak of laws of truth. Here of course it is not a matter of
what happens but of what is. From the laws of truth there follow prescriptions about
asserting, thinking, judging, inferring. And we may very well speak of laws of thought
in this way too. But there is at once a danger here of confusing different things. People

may very well interpret the expression ‘law of thought, by analogy with ‘law of nature’
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46.

47.

48.

49.

50.

and then have in mind general features of thinking as a mental occurrence. A law of
thought in this sense would be a psychological law. And so they might come to believe
that logic deals with the mental process of thinking and with the psychological laws in
accordance with which this takes place. That would be misunderstanding the task of

logic, for truth has not here been given its proper place.

- Wittgenstein.
The word ‘law’ is used as prescription when we use it in the sense of :
(A) Moral law only (B) Civic law only
(C) Both (A) and (B) (D) Law of Nature
According to the author, truth is the goal of :
(A) Major sciences (B) All sciences
(C©) Logic only (D) The Supreme Court of a Country

The distinction between laws of truth and laws of nature lies in :
(A) Their goal (B) Their means
(C) Both (A) and (B) (D) Neither (A) nor (B)

The law dealing with the mental process of thinking is known as :
(A) DPsychological law (B) Law of thought

(C) Law of nature (D) None of the above

The task of Logic according to the author is :
(A) Discernment of laws of truth

B) Explanation of inferencial process
Analysis of mental process of thinking

Framing of arguments

-00o0-
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49.

50.
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